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SECTION - A

VERY SHORT ANSWER TYPE QUESTIONS 10 x 2 = 20
{Attempt *ALL’ questions. Each question carries “2” marks)

. . 1f the area of triangle formed by x =0,y =0, 3x + 4y = a(a > 0) is 6 sq. units, find

the value of ‘.
If the lnes 2x — 3y + k=0,3x~4y 13=0, 8- 11y— 33 =0 are concurrent, find
the value of ‘%’.
Show thal the points (1, 2, 3), (7, 0, ) and (- 2, 3, 4) are collinear.
Find the equation of the plane passing through (2, 0, 1) and (3, — 3, 4) and perpen-
dicularto x — 2y +2 =6,
e |
22 (2x=1)(x - 2
lim Ilx’ =3x+4
x=vw 137 552 7

Compute

Compute

sinx  if x<0
“+g if 0<x<l
hx+3 if 1<x<3

-3 ifx::a?;

Find real constants a, & so that the function [ given by f(x) =
is continuous on R,

& i l’_fl
If y = sec (vtan x), find e

Find Ay, dy for the [unction y = 5 +x, when x =10 and Ax = (1.

Find the equation of the tangent and normal to the curve p = 5x* at the point (1, 5).

SECTION - B

SHORT ANSWER TYPE QUESTIONS 5 x4 =20
(Attempt any ‘FIVE® questions. Fach question carries ‘4’ marks)

A(l,2), B(2,-3) and C(-2, 3) are three points. A point ‘P moves such that
P4* + PB® = 2PC". Show that the equation to the locus of *£” is Tx — Ty+4=10.

.Find the transformed equation of x cos o + p sin « = p when the axes are rotated

through an angle o.
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A straight line forms a triangle of arca 24 sq. units with the co-ordinate axes. Find
the equation of that straight line if it passes through (3, 4).
If y = a cos x + (B + 2x) sin x, then show that " + = 4 cos x.
Vi -1
. . . . o g .
IFind the derivative of Tan ' ———— withrespect to x.

A point is moving with uniform velocity ‘v" along a straight line AB. Qs a point
on the perpendicular to AB at 4 and at a distance [ from it. Show that the angular

; . v
velocity of P about O is —.
) oP
Iff=1log {:.:: +_}-3) then show that £, +7,, = 0.

SECTION -C

LONG ANSWER TYPE QUESTIONS Bx T =25
(Attempt any ‘FIVE’ questions. Each question carries *7° marks)

If O(h, k) is the foat of the perpendicular from P(x,, ¥,) on the line ax + by +¢ =0,
h—x k-y, —(ax +by +c)

= o Also find the foot of the perpendicu-
a b a* ¥ S A

then prave

lar from (— 1, 3) on the line 5x -y = 18.
Find the value of k, if the lines joining the origin with the points ol the curve
2¢° — 2xy + 3y +2x—y — 1 =0 and the line x + 2y = k are perpendicular.
Show that the product of the perpendiculars drawn from the point (o, B} on the pair
e+ 2haB+b B

"'.'I(rz — By +4n°

of the lines ax” | 2hxy + by =01is

If the relation between the dircction cosines of any two lines are [ +m +n = (),
£ +m — " =0; find the angle between the lines. 3

. Ly | L
If y = Tan ' [3 s ,-‘ + T 1[_3x —ﬂx.‘ — Tt {—-—-—4‘{ Ax

—-x ] — 3

4

. show Lhat i (1 +x "
1-6x +x | che

Find the angle between the curves P =dxandx* +y =5.

Find the absolute maximum value and the absolute minimum value of the [unction
f(x)=x+sin2x in [0, Zn].



